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Note: Answer From Both the Section as Directed. The Figures in the right-hand margin indicate marks.

avg / Section-A

1 Fr=ifafea wgledly gt @& sar dft:
Answer the following multipal choice type questions: 1x10
(a) TRAy wrEerdt afdfas @1 af 8 Year of Indian partnership Act is-
(1) 1930 (i) 1931 (i) 1933  (iv) 5% & ®1¢ € 74 None of the above
(b) 59 &1 & fwfa g w Frfor &1 g 3
Under which section there is provision of Re-assessment-
(i) 143 (i) 144 (iii) 145 (iv) 147
(€) ST WM W &R A F A ot 2— Tax deduction at source is done by-
(1) yrarTwat gRr Person making payment (i) w<@R gRT Goverment
(iii) 3maex fawFT gRT Income tax department (iv) smaaR <1 g1 Income tax payer
(d) @18 @t ST W ST w9 W oW FEr o e
Rate of tax deduction at source on Lottery winnings is-
(i) 10% (i) 20%  (ili)30%  (iv) 30.9%
(€) A IR YA R T ® Rew aRT @ sioefa s s
Under which section interest will be charged on deferment of advance tax-
() 234A (i) 234B (iii) 234C  (iv) 234D
(D) B 3 o gud g o 37 Ay &=
Due date of second instalment of advance tax is-
(i) 15 Rya=R 15 September (i) 15 v 15 December
(iii) 15 71 15 March (iv) 15 5 15 June
(8) <o, 7P A1 SRR B AR W I T W B FAd # o R —
The rate of Tax deduction at source on rental payments of plant, machinery or
equipment is -
M 1%  (iD)2% (i) 5% (iv) 10%
(h) smae sifRfem, 1961 @ aR-80G & siwfa ge far ol & (o9 fezn < 8)
Deduction v/s 80 G of Income tax Act, 1961 is allowable to -
(i) #39 S B Only company (ii) daet WERTd w4 @ Only to partnership firm
(iii) 39 = @1 Both of above (iv) @ # fee = 78 None of both
() a1 80C 1 HET AT 81 § — Deduction under section 80 C applicable to -
(i) #ae1 =fd R Only on individual (if) ¥ w® On Firm
(iii) 3 ® On company
(iv) @R v fag sfawiom aRar w—
On individual and Hindu undivided family (HUF)




() smaex A 1961 @ g1 — 80GGB & e worifere 7 a1 el ov @
JUEH B ey 7 g 5w wier 2 @ foar e ?)
Deduction v/s 80GGB for contribution to political parties or election trust
under Indian Income Tax Act, 1961 is allowed to -
(i) %9t B9 @1 Only to company (i) a1 %% &' Only to Firm
(iii) 7 vd &4 2 1 To both company and firm (iv) f5 @ & To none

2. frfafed ag-swrly vl @ San g 2x5
Answer the following short-answer type questions:

(a) @@ o fAuicer @ 21 What is self assessement.

(b) 3TW WM R # & Hekd 3 wasmd | Explain Tax deduction at source.

(c) mgmx faawel @ar 81 What is Return of income.

(d) 7w ofus F= @ w9 | Explain minimum alternative tax.

(e) ¥4 @ <o ¥ gWis @M 3 wwsd | Explain book profit in case of firm.

gvg / Section-B
frrfeRam O solig et & SR it 12x5
Answer the following long answer type questions:
7918 / Unit-I

3. %4 & e # aRadw @ wHm )

Explain the change in the constitution of firm.

3epEr/ Or

frmferiae ammell & ax—Faie af 2020-21 @ faxfr F a¢ i & TvFT Hifdg—
From the following information compute the tax payable by X Ltd for the
assessment year 2020-21

1. sftnffoat & faspw & =mURe o 8,50,000
Business Income from sale of securities

2. 399 AWRE T4 10,00,000
Other Business Income

3. <rdereis Yol o 4,00,000
Long-term capital gains

4. gfefa Hegaem & faa 1,50,000
(@mR® o § & g w98 B T R)

Securities transaction tax paid
(Not deducted from business income)
@18 / Unit-11
4. T fuier & fafy= Rl o Wb § wwemeu)
Explain briefly the different types of assessement.
Feqar/ Or
WA TreT Hed @ 87 e aar Suaie 2
What is permanent account number (PAN)? What is its utility.
zas / Unit-111
5. & e vd facia wey fofal ® v o fafke )
Write an essay on Tax planning and financial management decisions.
3@t/ Or
TR IO (Tax avoidance) v @ g9 (Tax Evasion) &7 WH3mi? a1 & &1 ofdk 2
Explain Tax avoidance and Tax evasion. What is the difference between them?

R



go18 / Unit-1V

6. 9 HuIgl B Yo weEET T geR 28—
~ Capital structure of three companies is as under:-
ISl @1 yeR Y fa. @ fo. i far,
Type of capital A Ltd. B Ltd. C Ltd.
HHAT &9 Ton 5,00,000 4,00,000 2,00,000
Equily share capital
12% o1 v= — 1,00,000 3,00,000
12% Debenture

5,00,000 5,00,000 5,00,000

qargy g % &1 Yol 63 o0 8, 3l fAfHEn = g R e -
(a) 20% (b)15% () 10%
IR B FTAT TR 26% AT gE 3 Fised D
Explain whose capital structure is best if the rate of return on investment is:-
(a) 20% (b)15%  (c) 10%
Give your conclusion assuming that rate of Income Tax is 26%
' srear/ Or
ma_;wwé?wawmﬁ' qH e B Hag # fFE PR S o T w9
el & |
What is a bonus share? How can a shareholder reduce his tax liability regarding
bonus shares.
| g8 / Unit-V
7. ST WM W &R P Bk F F7 A 2° § e D ¥ § B som we ®
TR FICT AT B
What is meant by deduction of tax at source? What are the payments on which
tax is deducted at source.
' aremar/ Or
f. 9. 9. o sl af 2020-21 @ A G BT AFAA B R -

Mr. J.P. estimates his current income for the financial year 2020-21 as follows-

4
AR ¥ TN — I I 6,84,500
Taxable Income from business
ol @ (erearel= iRt @ <) 13,500
Capital gain (short-term not from securities)
= AEE W _26.000
Income from other sources
' Bl [l - 7,23,500
Gross total income-
G ¢
Loss
Herar ant 80C fr fifem (-) 3000
Deduction u/s 80C LIP
Fe arT 80D B e (~) 500
(Fafecar i fifvem)
Deduction u/s 80D(Medical Insurance premium)
A AT ~7.20,000

Total Income



I OEE W A ¥ TR B D OIS B T A & 9 W 1760 T 9EH WH

R I BT AR/ 2|

&M s g & o AT TF Y= < faltrl w SR
AW arell AW PR ¥Rl T
Tax will be deducted at source ¥ 1760 on income from other sources includes
interest on debentures of a company.

Calculate advance income tax and find out amount of
advance tax payable on various dates.



